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Course-101 2 A 3,4
Course-111 . A+ 4.00
Course-112 4 B 3.2
Course-113 4 B- 2.75
Course-131 4 C 2.25

(GPA), =

2+ A+4+ 4+ 4

2(3.75)+4(4.00)+4(3.25)+4(2.75)+4(2.25) _ 56.5

=3.138888 =3.138

18

T [ @ T<FISh (Y] &t
Course-203 4 A+ 4.00
Course-205 4 B 3.00
Course-207 4 A 3.75
Course-205 2 B+ 3.25
Course-201 2 A- 3.50

4(4.00)+4(3.00)+4(3.75)+2(3.25)+2(3.50) _56.5

(GPA), = _ 2 =3.53125 =3.531
4+4+44+2+2 16
o T @ (<RI (1 &t
Course-311 4 B 3.08
Course-312 3 B 3.00
Course-321 4 C 2.30
- Course-331 2 A 3.75
4(3.08)+3(3.00)+4(2.30)+2(3.75) 38.02
(GPA); = ( )... =2.924615 =2.924
4+3+4+2 13
8 I &Y TSRSh [(2\0) fefsy
Course-401 2 A- 3.52
Course-412 2 B 3.01
Course-422 2 D - 2.02
~ Course-432 4 D 2.00
2(3.52)+2(3.01)42(2.02)+4(2.00) 25.1
(GPA), = (200) _ 251 _, 5

2+2+2+4 10

18(3.138) + 16(3.531) + 13(2.924) + 10(2.510) 176.092
18 + 16 + 13 + 10 57

CGPA= =3.089 = 3.09

LG corresponding to CGPA=3.09 is “B”




